Heimmannschaft

Gastmannschaft

Ergebnis

Werder Bremen Hannover 96 2:0 (0:0)
VL Wolfsburg FC Augsburg 1:1(1:1)
Schalke 04 G. Firth 1:2 (0:0)
FSV Mainz 05 FC Bayern 0:3(0:1)
Fortuna Diisseldorf V1B Stuttgart 3:1(2:0)
1899 Hoffenheim SC Freiburg 2:1(2:1)
Hamburger SV Eintracht Frankfurt | 0:2 (0:2)
Niirnberg M'gladbach 2:1(2:0)
Bayer Leverkusen Borussia Dortmund | 2:3 (0:2)
Summe

Richtige
Tendenz

1. AM 5

ET 5

Flakk 5

DS 5

DF 5

2. Phantom 4

FP 4

Yushi 4

MB 4

3. Kutti 3

4. Biene 2

AN 2

AN

FP

KONTER TABELLE

AM

DS

Phantom

Flakk Biene DF  Kutti Yushi

W= OON == 0O 0o

Platz  Tipper Punkte Richtige Tendenz\
1 DS 111 18 75
2 Yushi 108 18 72
3 Biene 107 19 69
4 ET 103 15 73
5 Phantom| 101 21 59
6 Flakk 99 17 65
7 DF 98 14 70
8 FP 98 12 74
9 AN 93 14 65
10 AM 92 13 66
11 MB 87 17 53
12 Kutti 78 12 54
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